Matching and covers. Variant 1.

1. Find the shortest vertex cover using the CNF of the covering function.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the branches and bounds method.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b ¢ d e f g
a 11 11 a 3 4
b1 1 1)1 b |3 1 4
c|1 1 c |7 9
d 1|1 d 2
e 11 1 e 119 3
f 1 1 f 2 5
g|1]1 111 g 3
h|l1]|1 1 h 5

6. Solve the assignment problem.
a b ¢ d e f

a | 1213 51 3
G| 32 21 1 23|12 | 23
¥ 36 17
0| 5|4 (317 32
€ 12113 4 |21 |12
¢ 22|15 18 26

7. Solve the transport problem.
a b c d

e
§ 12 7 16 2

12 |13 | 11 | 5 3 9
1312021 | 23| 12| 3
5 123136 | 3 |17 |10
5 14 |31 7 |32 32
10 |12 | 13 | 4 | 21 | 12

> 2 X R

)




Matching and covers. Variant 2.

1. Find the shortest vertex cover using the branches and bounds method.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the CNF of the covering function.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b ¢ d e f g h
a 1 111 a 9 3
b 1] |1 1 b 1| |4
c| 1] |11 c| 1] |72
d 1 1 d 7 2
e|1]1]1 1 el 9|4 )
I 1 1| f 2
g|1]1 1 1] g |28 5
h|1 111 h 7|4

6. Solve the assignment problem.
a b ¢ d e f

e 13 5| 3 |11
6| 10 | 12 23| 12 | 23
vy 36| 2 | 17
0| 5| 4 171 2 |13
€ 121 3 | 4|21 12
¢|10| 5 18
7. Solve the transport problem.
a b ¢ d e
12 7 16 2
a 1213|102 3 9
6 18120 21 |5 3
vy 5 12336317 |10
6 5 | 4 |31 | 7|10 32
e 10|10 31 | 4| 21 | 12




Matching and covers. Variant 3.

1. Find the shortest vertex cover using the CNF of the covering function.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the branches and bounds method.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b ¢ d e f g h
a 1 1|1 a 1 8
b1 1)1 1 b |1 2
c 171 c 4
d 1 1 d 4 6
e 11 1 e
fl11]1 1 1)1 f 6 6
g |1 111 1 g8 1
h 1 111 h 2 8

6. Solve the assignment problem.
a b ¢ d e f

ol 12 ] 13 5| 3
3 21 | 23 | 12
v | 31 36| 4 |17
s| 5 als1]712]32
el12]12]13 21 | 12
¢ 10 | 18 21

7. Solve the transport problem.

a b c d e
8 12 7 16 2
a 12 13|11 | 5 3 9
6 13 12021 | 2 |12 | 3
vy 5 11313 | 3 | 17| 2
6 &5 | 4 (3112|2132

10 112 | 13 | 4 | 21 | 12

)




Matching and covers. Variant 4.

1. Find the shortest vertex cover using the branches and bounds method.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the CNF of the covering function.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b ¢ d e f g
a 1j1(1(1|1] a 716|514
b 1 111 b 1 3
c 111 c 911
d|1 1|1 d| 7 2
e|1]1]1 1 e | 619 3
fl1 1]1 fl15 112
g|1]1 111 g |4 3
h|1]1 h |2

6. Solve the assignment problem.
a b ¢ d e f

o 13 537
3| 32 21 | 23 | 12
o~ 17 | 11
5 4317 32
e 1213 4 12
¢l22]15 18 | 12

7. Solve the transport problem.
a b c d

e

§ 12 7 16 2

12 | 13| 11 | 5 3 9
13120 | 21 | 23 3
5 123121 3 4 |10
5 1 4 |35 |12 32 | 32
10 |12 | 23 | 4 | 21 | 12

> 2 X R

)




Matching and covers. Variant 5.

1. Find the shortest vertex cover using the CNF of the covering function.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the branches and bounds method.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b ¢ d e f g
a 1|1 111 a 3 4
b 1 11 b
c |1 1 c
d|1 1|1 d 2
e 111 111] e 219 714
f 1 1| f 2 8
g |1 111 g 7
h|1]1 1|1 h 2 4|8

6. Solve the assignment problem.
a b ¢ d e f

a | 12 5 3

G132]12 (2123|1210
vy 36| 4 | 17| 12
0| 5 | 4131 32
€ 12113 | 4 12
¢ |22 2 |18 6

7. Solve the transport problem.
a b c d

§ 12 7 16
12 |13 | 11 | 5 3
13120 | 21 | 23
5 |10 | 36 | 12 | 17
5 14 |31 | 7 |28 )32
10 112 | 13 | 4 | 21| 5

DWW O | O

> 2 X R

)




Matching and covers. Variant 6.

1. Find the shortest vertex cover using the branches and bounds method.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the CNF of the covering function.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b c e f g h
a 1 1)1 111] a 7 919 213
b1 1 1 1 b |7 1 4
c 1 1 c 1 2
d|1 1 d 2
e|1]1]1 1|1 e 412 4| 2
f 1 f 2
g|1]1 1 11 g 1 5
h|1 1 1 h 5

6. Solve the assignment problem.
a b ¢ d e f

o 17 513 11
gliof12|12] 7|12

v | 34 2 | 17

s 54 7] 215
e 12] 3|4 12
¢cliwo] 5 [11]18

7. Solve the transport problem.
a b c d

e

12 7 16 2

121 3 |10 | 2 3 9
3

4

1312012 | 5
5 |23 |36 |11 17
5 14 |31 7 |10 32
10 122 | 31 | 4 | 34 | 12

> 2 X R

)




Matching and covers. Variant 7.

1. Find the shortest vertex cover using the CNF of the covering function.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the branches and bounds method.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b ¢ d e f g h
a 1111 1 a 5 4
b1 1 1)1 1 b 2
c| 1|1 1 c 2
d|1 1 d 5
e 111 1 e 3 1
fl1]1 1)1 f15 6
g 111 1 g 1
h 1 1 111 h 2 5 8

6. Solve the assignment problem.
a b ¢ d e f

a | 12 215|315
16} 12 | 21 | 23| 12
v | 31 4 5
61 5 7|12 | 23
e | 12| 6 | 13 4
¢ 10 | 18 | 11 | 21

7. Solve the transport problem.
a b c d e

§ 12 7 16
12 122 |12 | 12| 8 9
1312021 | 2| 12|23
5 113|136 | 3 4 2
5 14 |31 12] 3 | 32
10 | 15| 13 | 13| 21 | 12

> 2 X R

)




Matching and covers. Variant 8.

1. Find the shortest vertex cover using the branches and bounds method.
2. Find three maximal independent vertex sets.

3. Find a minimal dominating set using the CNF of the covering function.
4. Find a matching of the maximal cardinal number.

5. Find a matching of the maximal weight.

a b ¢ d e f g h a b ¢ d e f g h
a 111 1111 a 8 6 | 4
b1 1 1 11 b |8 1 1 9
c| 1|1 c| 7|1
d 1|1 d 2
e| 1|1 1 e 1
fl1 1 1| f 5
g |1 111 g 413
h 1 1 h 9 5

6. Solve the assignment problem.
a b ¢ d e f

a 212] 3|6
3| 32 21 12
v 13] 3 11
5 4 |31] 7 32
e 3313 4 14
cl22]15 10 | 12

7. Solve the transport problem.
a b c d

§ 12 7 16
12 |23 |11 | 5 3
13120 | 20 | 23
5 123121 3 |12
5 |15 | 5 |12 | 32
10 |12 | 23 | 31| 21 | 12

> 2 X R
ok |lw|lole o

)




